kil 6 FE NHRKEGKEAERER

IIES S Bl S S = S =l Bl HEOKRII KN Pinalll FEEP)1 FEE I FEEP)1 FEE I FEEP)1

FR AA, WA | AA EPIA | AA AEMA | B.AEWB | B.AWB | BLAYB | B.AWB | BLAWB | B.AWB | BLAWB | B.AWB | B.AWB | C.AMB | CLAEWB | C.AMB | C AYB
LR s | Akl | s | wes | TRET | masom | gms | BIDOE | AEIE | ATRE | @56 | soRE | Joat | s | seeis | s

bl 6.9 7.7 7.8 7.8 7.8 7.8 7.9 8.0 8.0 8.0 8.0 8.1 7.1 8.0 8.5 8.3
DO 9.5 9.6 9.7 9.9 10 9.9 9.7 10 9.9 9.9 8.9 9.1 8.3 9.4 11 10

4 [BOD 0.5 0.5 0.5 0.5 0.8 1.1 1.3 1.8 1.7 1.7 1.0 1.9 4.4 2.3 2.6 1.9
% [coD - 1.0 1.0 1.3 2.1 3.1 3.2 3.4 3.3 3.2 2.6 3.4 3.6 3.4 3.7 3.7
oSS 2 2 2 3 6 6 6 6 4 5 2 5 3 3 6 6
O PN L 22 220 310 700 2500 590 1300 460 270 160 130 2100 670 370 520 940
m |[BEER 0.41 1.2 1.2 1.7 2.3 2.5 3.1 3.0 2.9 3.3 3.4 3.7 4.2 4.0 3.8 3.3
N <0.003 0.017 0.015 0.045 0.095 0.081 0.085 0.13 0.20 0.087 0.15 0.18 0.11 0.16 0.17 0.18
i 0.008 0.001 0.001 0.001 0.002 0.008 0.010 0.011 0.019 0.018 0.009 0.010 0.009 0.012 0.013 0.012
I T ) — — <0.00006 — — — — — <0.00006 — — <0.00006 — — <0.00006 —
LAS — — 0.0008 - - — - - 0.0017 - - 0.0034 - - 0.0019 -

HEIT L <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | 0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
BT ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND

i <0.005 <0.005 <0.005_| <0.005 | <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005

IR =N <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
FE <0.005 <0.005 <0.005_| <0.005 | <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005

KA - <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
TILX L IKER — — — — — — — — — — — — — — — —

A [FUB{EE 7 ==/b — = ND = = = ND = ND = = ND — — ND =
Do yanrzy — — <0.002 — — — <0.002 — <0.002 — — <0.002 — — <0.002 —
0 [EiERER - = <0.0002 — = — <0.0002 = <0.0002 = - <0.0002 = - <0.0002 -
’j;f 1,2-y/aaxpy — — <0.0004 — — - <0.0004 — <0.0004 — - <0.0004 — - <0.0004 =
e INE T ES 7% — — <0.002 — = — <0.002 = <0.002 — - <0.002 = - <0.002 -
" a2y 7masfiy — — <0.002 — — — <0.002 — <0.002 — — <0.002 — — <0.002 —
e [LLLR7moshy — — <0.0005 — = — <0.0005 = <0.0005 - = <0.0005 — = <0.0005 —
By |LL2h)ymErsy — — <0.0006 — — — <0.0006 — <0.0006 — — <0.0006 — — <0.0006 =
S [SVEEES %% — — <0.0005 — = — <0.0005 = <0.0005 - = <0.0005 — = <0.0005 —
7 |7tz/mnzily - — <0.0005 — — — <0.0005 — <0.0005 — — <0.0005 — — <0.0005 —
@ [L3v7mazuny — — <0.0005 — = — <0.0005 = <0.0005 - = <0.0005 — = <0.0005 —
O T — — <0.005 — — — <0.005 — <0.005 — — <0.005 — — <0.005 =
m [Fugs - = <0.0006 — = — <0.0006 = <0.0006 - = <0.0006 — = <0.0006 —
5§ Lo — — <0.0003 — — - <0.0003 — <0.0003 — - <0.0003 — - <0.0003 =
FI_UTINT = - <0.002 — = — <0.002 = <0.002 = - <0.002 = - <0.002 -
Py — — <0.001 — — — <0.001 — <0.001 — — <0.001 — — <0.001 —
TLv - = <0.002 — = — <0.002 = <0.002 = - <0.002 = - <0.002 -
ok — — 0.04 — — — — — 0.09 — — 0.09 — — 0.11 —
EoER — — 0.03 — — = — - 0.05 - — 0.04 — - 0.07 -
MRS RE 2 SR — — <0.01 — — — — — 0.04 — — 0.05 — — 0.20 —
HER R — — 1.2 — — — — — 2.0 — — 3.1 — — 2.9 —
VTN <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
T=)—VE — — — — — — — — — — <0.005 — <0.005 <0.005 <0.005 <0.005

[ <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01

VU EA T — — 0.032 — — — — — 0.17 — — 0.44 — — 0.40 —

B RILE R 150 110 110 130 160 180 250 270 350 330 250 250 310 280 310 310

Hi kA 3.9 3.6 4.3 8.5 13 15 22 22 38 36 14 13 14 17 27 29
ﬁ%ﬁ“yﬁﬁiﬂgﬁu <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
T E=THER — — <0.01 — — — — — 0.46 — — 0.10 — - 0.18 -
EPN ‘ — — <0.0006 — = — <0.0006 = <0.0006 - = <0.0006 — = <0.0006 —
RIVLET VT ER — — — — — — — — — — — — — — <0.06 —
A ITNT =) —) — — <0.0001 — — — - = <0.0001 — - <0.0001 = - <0.0001 -
T=U - = <0.002 — - — = = <0.002 - = <0.002 — - <0.002 =
2,4y /un7x )L - — <0.003 — — - — - <0.003 - — <0.003 — = <0.003 —

(BAfE:pH: %L, KEEE$: CFU/100mL, BESKIEEER: uS/cm. FDHM:mg/L)
XBUEIXETIE, {ELBOD, CODIXT5%iE. KB5E $(390%(E




fIES f=Sialll fesialll Gir R LI FRREI FRET el BIRUI =FYUI LRI HIAJI JLEF I R AN AHEER i=Z0

IESEROL B RE S BT

75 = = =
S P N AR Aczzar | 9T DAL
st | R | Cliniay | B | B | s | G | 51| B | e 51 vt e | ot | R | Ot | R | e
pH 7.8 7.9 7.8 7.9 - 7.8 7.9 7.9 7.8 8.0 7.7 7.8 7.8 7.9 7.8 7.8
DO 9.4 9.3 9.3 9.4 - 9.7 8.9 9.9 10 9.4 9.6 9.6 9.6 9.5 9.8 9.8
e BOD 0.5 0.5 0.5 0.5 - 0.5 0.6 0.5 0.9 0.5 0.6 0.5 0.8 0.5 0.6 0.5
o COD 1.1 1.5 1.0 1.3 — 1.0 1.5 1.1 1.6 1.3 1.5 0.9 1.5 1.5 1.9 1.0
B SS 4 4 3 4 — 1 3 3 2 2 6 2 6 2 1 2
55 K 260 330 220 400 - 55 1100 190 5600 19000 26000 920 24000 130 300 810
| EEE 3.9 2.9 1.1 2.3 — 1.3 2.1 1.8 1.8 2.4 1.2 2.2 1.3 1.9 1.0 1.8
l;l\ e 0.042 0.07 0.011 0.023 - 0.008 0.044 0.03 0.046 0.021 0.045 0.013 0.046 0.009 0.007 0.025
ENIn - - - - - - - - - - - - - 0.001
I T =)L - = - = - - = - = - = - = - —
LAS = = = = = = = = = = = = = = =
AR = = = = = = = = = = = = = = <0.0003
LT = = = = = = = = = = = = = = ND
B - — - — - - — - — - — - — - <0.005
AfiZEn = = = = = = = = = = = = = = <0.01
s - — - — - - — - — - — - — - <0.005
BT - - - - - - - - - - - - - - <0.0005
T VXN IKER — — — — — — — — — — — — — — —
A [T 7 == = = = = = = = = = = = = = = =
DT yanrEy — — — — — — — — — — — — — — —
EAAES = = = = = = = = = = = = = = =

1,2- /anxsy - - - - -

1,1y yauxfly — — — — —

VA-1,2-yyaaxfly — — — — —

1,1,1-pyupxhy — — — — —

1,1,2-F)yupxsy, — — — — —

SECES = = = = =

AVZA e A% — - - - -

1,3-v/na7’ o~y — — — — —

LIDA% I = = = = =

FI5h = = = = =

S = - - - -

FAXANT — — - - —

~By — — — — —

Ly - - - - -

TR = = = = =

ESE = = = = =

HE fiE R % SR - — — — —

R = = = = =

AR — — — — —

Tx/—)VHH — — — — —

& = - = = =

D WA = = = = =

SRR R 130 120 110 110 - 140 110 110 120 140 110 110 110 110 150 120

WFERAA 3.5 2.9 2.4 1.8 — 19 2.6 2.2 8.8 2.5 2.3 1.6 2.5 1.8 1.5 3.5

T A A S s A <O:02 <0202 <O:02 <0202 - <0.02 0‘63 <0202 <O:02 <0202 0‘62 <0202 0‘62 <0202 <O:02 <0202
7 E= AR = = - - - - = = = = = = =

EPN — — — — —

FILLT LT ER — — — — —

4ATTFNT =) —) — — — — —

= = = = = =

2,4-v/un7=/)—)v — — — — —

(BAfE:pH: %L, KEEE$: CFU/100mL, BESKIEEER: uS/cm. FDHM:mg/L)
XBUEIXETIE, {ELBOD, CODIXT5%iE. KB5E $(390%(E




iﬁiJ l}lﬂ% AR ol e 1] O /N PNVl ]I EZAENINE A LI HEAT)1] HEATIT | RIEAII | ORI | sl RN
KA = = = = = = = = = = = = = = = =
Sl P P 2R
e i | AT | g | e | e | oon | BEEED | mum | wm | dmem | FARn | REEE | GRE | WA | T | C2RE
pH 7.8 7.9 7.9 7.7 7.8 7.7 7.8 8.0 8.0 7.8 8.0 7.7 7.9 8.1 8.1 8.1
DO 9.5 9.7 9.6 8.9 9.9 9.9 10 9.8 9.8 10 9.2 8.1 9.3 8.8 8.8 9.3
4 [BOD 1.2 0.9 0.8 2.1 2.1 0.5 0.5 0.5 0.7 0.8 0.5 1.0 2.8 1.3 1.9 1.2
o [CoD 2.1 2.0 2.0 3.4 3.7 1.9 2.1 2.2 2.5 2.6 4.8 5.2 3.3 3.3 3.8 2.4
g[S 3 8 3 3 4 4 5 5 4 5 1 10 2 15 6 2
PR PNU TR 470 2200 1000 590 1100 920 140 140 120 380 610 12000 1900 770 420 17000
m |[BEHR 4.1 2.6 8.7 4.3 4.5 2.0 2.0 1.9 1.6 2.3 5.6 1.8 5.9 3.7 3.7 2.9
EIEY 0.037 0.17 0.15 0.15 0.23 0.024 0.030 0.033 0.029 0.099 0.046 0.15 0.24 0.23 0.30 0.12
E - - - - - - - 0.006 0.006 - 0.003 0.006 - - - -
/=N T ) —)L — — — — — — — — — — — — — — — —
LAS — — — — — — — — — — — — — — —
ARIY L — — — — — — — <0.0003 | <0.0003 — <0.0003 | <0.0003 - - - -
BTy — — — — — — — ND ND — ND ND — — — —
g - - - — — — — <0.005 <0.005 - <0.005 <0.005 - - - -
A7k - - - - - — — <0.01 <0.01 — <0.01 <0.01 - - - -
S - - - — — — — <0.005 <0.005 - <0.005 <0.005 - - - -
He KR - - — — — — - <0.0005 | <0.0005 — <0.0005_| <0.0005 - - - -
TRV KR — - — — — - — - — - — - — - — —
AR RE 7 == - - - - - - - - - - - - - - -
DT yanrEy — — — — — — — — — — — — — — —
b R - - - - - - - - - - - - - - -
BE T2y ymnagy - - - - - - - - - - - - - - -
DLy aazFry — — — — — — — — — — — — — — —
#® Txiasymry — — — — — — — — — — — — — — —
1= [LL1-N7ooxry - — - - - — - — — - — - — - —
py [LL2-H7maxyy — — — — — — — — — — — — — — —
+ |[WzmaxFly - — - - - — - — — - — - — - —
P FASZELES — — — — — — — — — — — — — — —
ey 1,3-v/up7 o~y — — — — — — — — — — — — — — —
g [LADAFT — — — — — — — — — — — — — — —
R = - = = = - = - - = - = - = -
H E=ov — — — — — — — — — — — — — — —
TAXINT - — - - - — - — — - — - — - —
~By — — — — — — — — — — — — — — —
L — — — — — — — — — — — — — — —
So% - — - - - — - — — - — - — - —
ESES — - — — — - — - - - - — - — -
DG AEE=ES - - - - — - — — — <0.01 0.03 - - - -
[FALEES - - - - - - - - - - 5.0 1.2 — — — —
AR - — - - - — - <0.02 <0.02 — <0.02 <0.02 - — - —
Tx)— )V — — — — — — — — — — — — — — — —
k] — - — — — — — <0.01 <0.01 - <0.01 <0.01 - - - -
D NRAA — — — — — — — - — — — — — — —
FAL e 1200 150 240 220 200 96 110 120 120 190 1100 530 250 240 270 190
HRAAY 300 9 9 8.9 8.1 2.4 2.2 3.7 4.1 12 240 37 11 12 12 5.7
I8 A A R T A <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
ToR=TRER — — — — — — — — — — 0.07 0.13 — — — —
EPN - — - - - — - — — - — - — - —
TNVET VTR — — — — — — — — — — — — — — —
A ITFNT =) —) - — - - - — - — — - — - — - —
7= — — — — — — — — — — — — — — —
24V 7auTe)—) - - - - - - - - - - - - - - -

(BAfE:pH: %L, KEEE$: CFU/100mL, BESKIEEER: uS/cm. FDHM:mg/L)
XBUEIXETIE, {ELBOD, CODIXT5%iE. KB5E $(390%(E




fIES FEPUI R KB KE) Gl Je)1] —EII | —E R R I B )1 1 )11 )11 S| [SRINI] 1

IESEROL B RE S BT

il = N WNCE T
o - —
AR ety | mEkts | e | mewis | ke | e | —mm | DA | mes | omm o | mos | DRI e | ok | sonan | mis
pH 8.3 7.7 8.3 8.1 7.8 8.6 8.5 7.8 8.0 8.3 8.0 8.3 8.5 8.4 8.1 8.4
DO 8.0 7.9 10 7.9 9.2 11 10 9.5 11 12 9.2 11 11 10 9.9 11
. BOD 2.4 7.3 3.0 3.1 1.9 1.6 1.2 0.8 1.3 1.1 4.0 2.8 1.1 1.4 0.8 1.7
o COD 7.9 5.2 4.3 3.9 3.7 4.0 3.2 3.5 3.6 3.6 4.4 4.6 2.9 3.3 - -
B SS 3 4 2 5 2 4 7 4 9 8 3 12 4 5 4 3
55 PNILE 450 27 420 18000 1600 1700 430 1600 980 180 2500 750 390 310 370 1100
w [EEE 2.4 6.7 3.5 3.4 3.1 3.5 2.4 2.1 2.4 2.1 3.7 3.1 2.2 2.2 1.0 2.0
l;l\ e 0.20 0.079 0.46 0.54 0.28 0.23 0.094 0.099 0.099 0.093 0.32 0.26 0.062 0.055 0.099 0.18
ENE - - - — 0.011 0.009 0.006 0.014 - - - — 0.005 0.005 - -
=N T /) —)v — — — — — — — — — — — — <0.00006 — — —
LAS — — — — — — — — — - — - 0.0019 - — -
RN — — — - <0.0003 <0.0003 <0.0003 <0.0003 — - - — <0.0003 <0.0003 - -
BT — — — — ND ND ND ND — — - - ND ND - -
#h - - — — <0.005 <0.005 <0.005 <0.005 — — — — <0.005 <0.005 — —
N [ZA=PN — — - - <0.01 <0.01 <0.01 <0.01 - - — — <0.01 <0.01 - -
e - - — — <0.005 <0.005 <0.005 <0.005 — — — — <0.005 <0.005 — —
KSR - — — — <0.0005 <0.0005 <0.0005 <0.0005 - - — — <0.0005 <0.0005 — —
TIVRILIKER — — — — — — — — — — — — — — — —
A [T 7 == = = = = = = = = - = = = = = = =
DT yanrEy — — — — — — — — — — — — — — — —
EAAER = = = = = = = = = = = = = = = =

L,2-/uaxiy - — - — - — - - - — — — — - — —

1,1-v7aafly — — — — — — — — — — — — — — — —

VA-L,2-y yaazFly - — - — - — - - - — — — — - — —

L L1-N/unxhy = = = = = = = = = = = = = = - =

1,1,2-})/ax8y = = = = = = = — — - - — — - - —

MJopxFLy — — — — — — — — — — — — — — — —

Th7yanzFL v — — — — — — — — — — — — — — — —

1,3-v/up7 o~y — — — — — — — — — — — — — — — —

LA-TAFY = = = = = — — - — - — - — - — -

Fo7h = = = = = = = = = - = - = = = =

D = = = = = = = = = — = = = = - =

FEAYINT = = = = = = = = = = = = = = = =

P - — — — — — — — - — — - - - — —

2 — — — — — — — — — - — — — - — —

TR = = = = = = = = = = = = = = = =

ESES — — — — — — — — — — — — = - — —

HE fiE R % SR = - — — — — — — — — — - - — — —

AR ES — — - —

al — — — — <0.02 <0.02 <0.02 <0.02 — — — — <0.02 <0.02 — —
Tx/—)VHH — — — — — — — — —

kol — — — — <0.01 <0.01 <0.01 <0.01 - — — — <0.01 <0.01 - —

D WA = = = = = = = = = - — — — — = =

SRR R 290 350 170 260 200 280 170 230 170 210 220 270 280 290 - —

WFERAA 27 21 8.1 12 8.3 23 14 13 15 19 19 17 12 12 — —

T A A S s A <0.02 <0.02 <O:02 <0.02 <O:02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 - -
7 E= AR - - - - - - = = = = = = = =

EPN — — - - - - = - = - = - = - = -

RILLT VT ER — — — — — — — — — — — — — — — —

ACAIT T == = = = = = = = = = = = = = = = =

= = = = = - — - — - — — — — — - -

24—V yaET =) =)L - - - - - - - - - - - - - - - -

(BAfE:pH: %L, KEEE$: CFU/100mL, BESKIEEER: uS/cm. FDHM:mg/L)
XBUEIXETIE, {ELBOD, CODIXT5%iE. KB5E $(390%(E




fIES AR ERsIl NN L&)

H

iz

J

m

pH 8.2 8.1 8.3 8.1

B s B | O | M | LA TR KARME

DO 8.5 10 10 9.1

BOD 0.5 0.8 0.6 1.5

Cob — - — —

SS 3 4 2 3

KIGEEL 7000 140 490 570

PER 1.4 1.6 2.2 5.6

e 0.12 0.049 0.082 0.41

ENIn - —

=)V /)—) — — — —

LAS = = = =

s>

IESEROL B RE S BT

HFITL = = = =

BT — - — —

5 = = = =

A2 2 — — — —

it — — — —

MK ER — — - —

7L LK ER — — — —

RUELE T ==L — — — —

DI % = = = =

EER[PES — — — —

1,2-v"yuaxly — — — —

L1=yuozfly — — — —

VA-1,2-yyaaxfly — — — —

1,1,1-N/upxhy — — — —

1,1,2-F)yupxsy, — — — —

MRzl — — — —

7h7/muzfly - - — -

1,3-yun7’any — — — —

1,49 — - = =

FITL = = = =

P — - — —

FAA I T - - - -

P — — — —

Tl — = — -

5o — - - —

ESES — — — —

HE fiE R % SR — — — —

AR ES — — - —

ZAZE — — — —

7x=/)—)VH — — — -

& = = = =

VAT = = - -

RS = = = -

HiRAA — — — —

BE A7 FE TG A] — — — —

ToE=THER — — — -

EPN - - = -

FILLT LT ER — — — —

4ATTFNT =) —) — — — —

T=U = = = =

2,4~V uarx )—) — — — —

(B pH: 2L, KESHE$: CFU/100mL, BERIGEER: 4 S/cm. FD:mg/L)
XBUEIXETIE, {ELBOD, CODIXT5%iE. KB5E $(390%(E




FH 6 FE
B4 B4 B4
YR A, I EWAIA, T, EMA

I TE Hh i N O

HERTHE =] TE

pH 8.2 7.1
DO 8.2 —

4 [BOD 1.6 2.6
— [cOoD 3.0 5.9
i SS 1 4
IR —

15 KIGEEL 1 6
m |[BEFR 0.29 1.3

g j\ijﬁf\ 0.012 0.062
s 0.005 —
=)V T )—)L <0.00006 —
LAS <0.0006 —
HIRIV L <0.0003 —
BT ND —
0 <0.005 —
AN ZA=EN <0.01 —
& <0.005 —
R ER <0.0005 —
7 L)L KGR — —
AN R E 7 ==L ND —
D |CyaaRr <0.002 —
G I A S <0.0002 —
HE T o—ynnzhy <0.0004 —
D 1 JauzFly <0.002 —
® Saa—v7mesFy | <0.002 =
'g, 1,1,1-F)/eexsy <0.0005 —
B’é 1,1,2-N)yanzhy <0.0006 —
S [V EEES <0.0005 —
7 |[7h3zmzFLy <0.0005 —
g 1,3=V"yun7'n~"y <0.0005 —
g |[LAUAFH <0.005 —
I [FUZa <0.0006 —
H [xrv <0.0003 —
FH R HINT <0.002 —
o 2 % <0.001 —
1 <0.002 —
S o <0.02 —
ESES 0.05 —
S EAPE = R <0.01 —
HEREE R <0.05 —
=N <0.02 —
% P=—H — —
H |4 <0.01 —
VU BEAA — —
Jau” (/)la 4.0 —
7z |TocC 2.1 —
o |EREEPE — —
fit |[HEFEAA — —
D A FRmiE A — —
H |77 0.03 —
PN s — —
TJEDO — 1.2
h s W 4.6 —
g5 |[EPN — —
BE [RLAT VT ER — —
o (4-t=FrF L7 /—| <0.0001 —
"o [r=yr <0.002 —
2,4-v7ua7x/)—)L | <0.003 —

DHRAKBKERERHER

(BfsE:pH: %L, KIFE$: CFU/100mL, EKIEERE: 4 S/cm.
ZFDh:mg/L)
NHIEIXEF{E, {ELBOD. CODI75%IE . KIBE #%90%iE



